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To find T, consider only my and make down positive:

ZFy = ma;

g =T =mat; T=n2g—ma

T=i6kg)98 mis’) — (6 kgh(5.10 mis?

#7-28. Assume that the masses sy = 2 kg and m2 = 8 kg are connected by a cord
that passes over a light frictionless pulley as in Fig. 7-14. What is the
acceleration of the system and the tension in the cord?

Resultant force = total mass of sysiem x acceleration

—m,
g — g = [y +mpha o= TRETIE
iy + ity
— (B kgh9.8m/s')-(2kgh9.8 m/s")

Now ok at malone:
2kg + 8k

Tomg=mya; T=myg+a)=12keN98 m/s’ - 588 mvs’):

*7-29. The system described in Fig. 7-15 starts from rest. What is the

+a
acceleration assuming zero friction? (asswme motion down plare )

IF, = mya;  mygsin 32— mog = fmy 4+ mo)a

(10 kg)(9.8 mis?)sin 32° — (2 kg9 8 s’} = (10 kg +2 kg)at

L SI9N - 196N
12kg

#7-30. What Is the acceleration in Fig. 7-15 as the 10-kg block moves down the plane against
friction (pe=0.2). Add friction force JF up plane in figure for previows problem.
g sin 32" — g~ F = my 4 myha

IF,=0: AN=mgcos3

T
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